


Compute the exact value of the function for
the given x-value without using a calculator

1. f(x)=3-5° forx=0 2. f(x)=—-2.27" forxz%

3. f(x)=8-4" forx:—g 4, f(x)=6-3" forx=-2



Compute the exact value of the function for
the given x-value without using a calculator

1. f(x)=-3-8 forx:% 2. f(x)=-3-16" forx:—%

3. f(x)=6-4" forx:g 4, f(x)=6-3" forx=-3



Determine whether the function is growth or
decay

1. f(x)=8" 2. f(x)=(6)"

3. f(x)=4" 4. f(x):ij



Find the y-int, the Horizontal Asymptotes, then
sketch a graph of the logistic growth function

0 4
2. T(x)=
e™” (X) 1+.2"

1. f(x):l1




Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f(x)=In(x-2)+3

1) Determine the vertical asymptote

2) Determine the x-intercept
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Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f(x)=-2In(-x)-1

1) Determine the vertical asymptote

2) Determine the x-intercept
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Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f(x) = log(4x)-1

1) Determine the vertical asymptote

2) Determine the x-intercept
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Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f (x) =3log(x +4)

1) Determine the vertical asymptote

2) Determine the x-intercept



http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCMes6uPi0ccCFUM7iAodYZIKug&url=http://etc.usf.edu/clipart/galleries/648-coordinate-grids&ei=b3jjVYe5O8P2oAThpKrQCw&psig=AFQjCNGqlRot_jDH7bZsIZdtpsb92nwI_A&ust=1441057258333694
http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCMes6uPi0ccCFUM7iAodYZIKug&url=http://etc.usf.edu/clipart/galleries/648-coordinate-grids&ei=b3jjVYe5O8P2oAThpKrQCw&psig=AFQjCNGqlRot_jDH7bZsIZdtpsb92nwI_A&ust=1441057258333694

Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f(x)=2In(x-1)-1

1) Determine the vertical asymptote

2) Determine the x-intercept
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Evaluate without using a calculator

1. log:.5= 2. 109,16 =

3. logv/10 = 4. 1og10® =



Find the y-int, the Horizontal Asymptotes,
then sketch a graph of each function

6
1+ 2e™

1. f(x)=5" 2. f(X)=



Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f(x)=-5In(2—x)-1

1) Determine the vertical asymptote

2) Determine the x-intercept
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Describe the transformation from the base
ogarithm then answer questions one and two to
nelp sketch the graph. .

f (x) =3log(2x)+3

1) Determine the vertical asymptote

2) Determine the x-intercept
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Expand each logarithm

7) log iﬁ
y

4

9) log =
v

11) lug"i’ll_t-_r-:

8) log e };]3

10) log

12) log [.t -y

et
-



Condense each logarithm

19) 6log, u+6log, v 20) In x —4In ¥

21) log, u—6log, v 22) log, u—>5log, v

23) 20log, u+3log, v 24) 4log, u—20log, v



